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PHYSICS
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PHYSICS

1. The value of acceleration due to 5. A sphere, a cube and a thin circular
gravity at a height of 10 km from the plate all of same material and same
surface of earth is x. At what depth mass initially heated to same high
inside the earth is the value of the temperature are allowed to cool down
acceleration due to gravity has the under similar conditions. Then the
same value x ? (A) plate will cool the fastest and
(A) 5km (B) 20km cube the slowest.

(C©) 10km (D) 15km (B) sphere will cool the fastest and
cube the slowest.

2.  Young’s modulus of a perfect rigid (C) plate will cool the fastest and
body is sphere the slowest.

(A) zero (D) cube will cool the fastest and

(B) unity plate the slowest.

(C) infinity

(D) between zero and unity 6. In an adiabatic expansion of an ideal
gas the product of pressure and -

3. A wheel starting from rest gains an volume.
angular velocity of 10 rad/s after (A) Decreases
uniformly accelerated.for.s sec. The B) Increases
:«:tal angle through which it has turned JG R g sins oomatsnt
(A) 25rad (D) At first increases and then

decreases
(B) 100 rad
& anm 7. A certain amount of heat energy is
(D) 30 7 rad about a. vestical axis supplied to a monoatomic ideal gas
o which expands at constant pressure.

4. Iceberg floats in water with part of it What fraction of the heat energy is
submerged. What is the fraction of the converted into work ?
volume of iceberg submerged if the 2
density of ice is p, = 0.917 g em™ ? (A) 1 B) 3
(A) 0917 (B) 1 © % D) %

(C) 0.458 (D) 0
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A tray of mass 12 kg is supported by
two identical springs as shown in
figure. When the tray is pressed down
slightly and then released, it executes
SHM with a time period of 1.5 s. The
spring constant of each spring is

12 kg

(A) 50 Nm™!
(B) 0
(C) 105 Nm™!

(D) =

A train whistling at constant frequency
‘n’ is moving towards a station at a
constant speed V. The train goes past a
stationary observer on the station. The
frequency ‘n’ of the sound as heard by
the observer is plotted as a function of
time ‘t’. Identify the correct curve

10.

11.

]2.

[ I ]

A point charge ‘q’ is placed at the
corner of a cube of side ‘a’ as shown in
the figure. What is the electric flux

through the far():e ABCD "C
T A “
P e wie F
H" G
(A) 0 (B) 2—;%0
©) 6—";; (D) ;25'6—0

The electric field lines on the left have
twice the separation on those on the
right as shown in figure. If the
magnitude of the field at A is 40 Vm™!,
what is the force on 20 uC charge kept

atB?
i ————

Be <
o .

:"",I

(A) 4x104Vm!
(B) 8x104Vm!
(C) 16x10*Vm™!
(D) 1x10*Vm!

An infinitely long thin straight wire has
1
uniform charge density of 7 x 102 cm™.

n‘r 3 _ nA
(A) AT (B) /\ What is the magnitude of electric field
at a distance 20 cm from the axis of the
o et wire ?
ng ng (A) 1.12x 108 NC-!
& o 8 =
(C) 225x10°NC-
o ' a (D) 9x 108 NC-!
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13. A dipole of dipole moment ‘P’ and 16. When a soap bubble is charged ?
moment of inertia I is placed in a (A) Its radius increases.
: J = A (B) Its radius decreases.
up1form elecftnc field E‘, If it is (C) The radius remains the same.
displaced slightly from its stable (D) Its radius may increase or
equilibrium position, the period of decrease.
oscillation of dipole is
PE & 4 17. A hot filament liberates an electron
(A) 1 (B) 2 PE with zero initial velocity. The anode
1 PE 0 potential is 1200 V. The speed of the
(©) ﬂ'\/; (D) W‘\/:—E electron when it strikes the anode is
(A) 1.5x10°ms™!
(B) 2.5x10°ms™!
14. The difference between equivalent (C) 2.1x107" ms™!
capacitances of two identical capacitors (D) 2.5x108 ms™!
connected in parallel to that in series is
6 uF. The value of capacitance of each 18. A metal rod of length 10 cm and a
capacitor is rectangular cross-section of 1 cm x % cm is
(A) 2pF (B) 3 pF connected to a battery across opposite
(C) 4pF (D) 6pF faces. The resistance will be
, (A) maximum when the battery is
15. Figure shows three points A, B and C connected across 1 cm x % cm
in a region of uniform electric field E. faces. _
The line AB is perpendicular and BC is (B) maximum when the battery is
parallel to the field lines. Then which connected across 10 cm x % cm
of the following holds good ? (V,, Vg faban.
and V. represent the electric potential (C) maximum when the battery is
at points A, B and C respectively) gonnected across 10 cm x 1 cm
: > aces.
Af —> (D) same irrespective of the three
> faces.
N 5 .
2L, 19. A car has a fresh storage battery
> of eem.f. 12 V and internal resistance
(A) V,=Vg=V¢ 2 x 1072 Q. If the starter motor draws a
(B) V,=Vy>V, current of 80 A. Then the terminal
C) V.=V.<V voltage when the starter is on is
(C) V,=Vg<V¢ (A) 12V (B) 84V
(D) V,>Vg=V, (C) 104V (D) 93V
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20. A potentiometer has a uniform wire of 23. -V characteristic of a copper wire of
length 5 m. A battery of emf 10 V and length L and area of cross-section A is
negligible internal resistance s shown in figure. The slope of the curve
connected between its ends. A becomesl
secondary cell connected to the circuit
gives balancing length at 200 cm. The
emf of the secondary cell is
(A) 4V B) 6V i 2

(A) More if experiment is performed
€ 2v (D) 8V at higher temperature.
(B) More if a wire of steel of same

21. The colour code for a carbon resistor dlmen-smn is used. TidLs
of resistance 0.28 kQ + 10% is (©) !_.ess if the area of the wire is

increased.
(A) Red, Grey, Brown, Silver (D) Less if the length of the wire is
(B) Red, Green, Brown, Silver increased.
(C) Red, Grey, Silver, Silver
: 24. In the given figure, the magnetic field
(D) Red, Green, Silver at ‘0’

22. Each resistance in the given cubical 1 ¢ >
network has resistance of 1 Q and A K
equivalent resistance between 1; and B is 3 .'i'_l_ P'_oI 3 ."lL[ .’i@l

@ e P10
ol Bl L3l ol
© 37 4nr 8 r  4mr
25. The magnetic field at the origin due to
a current element idl placed at a point
with vector position Tis
T e
@ 2 ® 30 (a) 22dxr g b rxd
4n an P
© 30 © 2a © HAE o Pl
an 12 ) a2
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26. A long cylindrical wire of radius R 29. The ratio of magnetic field at the
carries a uniform current I flowing centre of a current carrying circular
through it. The variation of magnetic coil to its magnetic moment is ‘x’. If
field with distance ‘r* from the axis of the current and the radius both are
the "‘;l‘l:e . shown by & doubled. The new ratio will become

(A) 2x
(A) NG BN (B) 4x
| i X
=R : r=R 3 (© Z
Bdl Bu . x
D) 3
© 2: (D) t,
,,R' 2 ,-R' ¢ 30. In a permanent magnet at room
temperature
(A) Magnetic moment of each

2l A cyclotrlon is used to azccelerate molecule is zero.
protons (;H), Deuterons (;H) and (B) The individual molecules have
a-particles (;He). While exiting under non-zero magnetic moment
similar conditions, the minimum K.E. which are all perf:ectly a?ngned.
is gained by (C) Domains are partially aligned.
(A) a-particle (D) Domains are all perfectly
(B) proton aligned.

(C) deuteron
(D) same for all 31. A rod of length 2 m slides with a speed
of 5 ms™! on a rectangular conducting

28. A paramagnetic sample shows a net ﬁ'am? as shown in .ﬁgure. There exists
magnetization of 8 Am~' when placed a uniform magnetic field of 0.04 T
in an external magnetic field of 0.6 T perpendicular to the plane of the
at a temperature of 4 K. When the figure. If the resistance of the rod is
same sample is placed in an external 3 Q. The current through the rod is
magnetic field of 0.2 T at a temperature x x x x x X
of 16 K. The magnetization will be

32 x X X X X X
(A) F Am™! \Y 2m
_ X X X X X x
2
(B) §Am‘ X x X X X X
(C) 6Am™ (A) 7SmA (B) 133mA
(D) 2.4 Am™! (C) 075A (D) 133A
Space For Rough Work
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32. The current in a coil of inductance 36. A light beam of intensity 20 W/cm? is
0.2 H changes from 5 A to 2 A in incident normally on a perfectly
0.5 sec. The magnitude of the average reflecting surface of sides 25 cm x 15 cm.
induced emf in he coil is The momentum imparted to the surface
o e i by the light per second is
(C) 30V (D) 03V
(A) 2x10°kgms™!
33. In the given circuit the peak voltages (B) 1x105kgms™!
across C,Land R are 30 V, 110 V and 5 _
60 V respectively. The rms value of the Sl
applied voltage is (D) 1.2x10% kg ms!
C L R
I ” | | g | 37. An object approaches a convergent
v 1ov 60 V lens from the left of the lens with a
uniform speed 5 m/s and stops at the
@ focus, the image
(A) 100V (B) 200V (A) moves away from the lens with
) 707V (D) 141V an uniform speed 5 m/s.
(B) moves away from the lens with
34. The power factor of R-L circuit is % an uniform acceleration.
If the inductive reactance is 2 Q. The ey ates .away i o .lens e
: . non-uniform acceleration.
value of resistance is
A) 2Q (B) \EQ (D) moves .towards the ]f:ns with a
1 non-uniform acceleration.
(C) 0.38 (D) ‘\ﬁ Q
38. The refracting angle of a prism is A
35. In the given circuit, the resonant and refractive index of material of
frequency is i A =
prism is cot . The angle of minimum
deviation is
0.5 mH = 20 pF (A) 180°-3A
(B) 180°+2A
(A) 1592Hz (B) 159.2 Hz (C)-90°~A
(C) 1592Hz (D) 15910 Hz (D) 180°-2A
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39. ®NS CeamS3nd W8S dorsy P 42. obor's D8 Aed nod Todeensd
DAY, SRR R0ADTTR 8, Resd ol TFY e FRWAT wed
Wm'mwvmww 1.2 m aesbrioBod ene 2.4 mm 2.
o i A aﬁm il | um o SH¥ 1.5 S8R8 Rews,o8

= 2 o, ool 3D ToTIFE  WE TP
i SOBOROT T, 3BTRS TR
©o30x IFPOY_ TN, "
gisa ke 30000 TOODY, AWR, [, 3¢800
' WTYAT TOT,WOTVOT MJTQLTH ?
e (A) 2mm (B) 0.5mm
P (C) 0.125mm (D) 0.25mm
5:—12 cm—)l
’ 43.  Jeor3cdOT H-r0ds o oF ol
(A) 12em  (B) 24em 7 i
(C) 36cm (D) 48cm de-Broglie $osogy__ sNobes.
(A) 03A  (B) 33A

40. P, P, %) P; Sech gHacdmRenvi (C) 626A (D) 10A
eIV I eEner - XRRTeITTN
ORTANG, P, o) P, o, 45° & 44. NI JPoko deems Hoed ob d:%a
S8 P, 353 P, oc], 45° drisgs. 128 | S maeat o
Wi 00808 80N o WESTORPTR w%d. I, L %) I,
8065y P, shed) Smertaodd, Py owess HVES ZDTIDR) DR 1, 1 13 ¥
B0 LIRS 80530 T 00T ) 7 S So0), Jrves 1, 2 IR 3 §
(A) 128 Wm2 (B) 0 8,3050N T, BQATT, en
(©€) 16Wm? (D) 64 Wm St

Q76
41, Qo sownedy 3.4 m ©ROEY -
QORONG. TRIT F64S FFYon 208 4
1 minute of an arc. MOF ST TRTHOT g a2
T o (A) 7=, 11,
& oo@e  sowndsy XN
oTh3xIBTD 7 B) =11, =1
(A) 108km (B) 5.4km ©C) =7, 3R 1,=1,
(C) 18m (D) 376m D) Y,=v, 3R L, =1,
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39. The following figure shows a beam of 42. In Young’s Double Slit Experiment,
light converging at point P. - When a the dlsta.nce between the slits a.nd the
concave lens of focal length 16 cm is screen is 1.2 m _a“fl the distance
introduced in the path of the beam at a be.tween the two ?hts is 2.4 - If a
place shown by dotted line such that thin transparent mica sheo.;et of'thlckness
OP becomes the axis of the lens, the 1 ym and RI 15 is introduced
beam converges at a distance x from between one of the interfering beams,
the lens. The value of x will be equal to the shift in the position of central

\ bright fringe is

i (A) 2mm (B) 0.5mm

o 3 (C) 0.125mm (D) 0.25 mm

|

|

E‘_lzcm_.l 43. The de-Broglie wavelength associated
(A) 12cm (B) 24cm with electron of hydrogen atom in this
(C) 36cm (D) 48cm ground state is

7 (A) 03A (B) 33A

40. Three polaroid sheets P, P, and P, are (C) 626A (D) 10A
kept parallel to each other such that the
angle between pass axes of P, and P, is 44. The following graph represents the
45° and that between P, and P, is 45°. variation of photo current with anode

3 . potential for a metal surface. Here I, I,
If unpolarised beam of light of _ $
intensity 128 Wm™2 is incident on P,. and 1, represents intensities and vy, v,
What is the intensity of light coming Y3 represent frequency for curves 1, 2
out of Py ? and 3 respectively, then

r
(A) 128 Wm2 (B) 0 g e
(€) 16Wm=2 (D) 64 Wm )
©)

41. Two poles are separated by a distance o e
of 3.14 m. The resolving power of $A%: o ma et 1 ;
human eye is 1 minute of an arc. The TN hiey

~ maximum distance from which he can (B) y,=v;andl, =1,
identify the two poles distinctly is (€) y,=y,and], =1,
(A) 108km (B) 54km
(C) 18m (D) 376m (D) v,=1;andl, =14
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45. H-0ro03 n'' sgobe) o3Q0%0800s 48. OB Jp ARV 10 nm FRCTY,
QTR PR noPY NI IR QOING. F, &) F, ene Suoas
emmjdoedagd? ToOSRD WO (ai%ggbc‘ WY) DL
(4) 1 QT 0D WUTPNGY,, SNV
®) 5 ST Howogky,
© n’ 2
(D) n oed sBLORITNG, St e

(B) F,>>F,
C) F.<<F
46. Hem&ameaeodmoaﬁen%h(h TROT I &) - Feli
- (D) F, &% F, n¢ I3 3o
J0008) &5Tar, w0 Besss (K.E.) Py, » x‘:.);)sd o
(A) 435eV  (B) 151eV Ui it
(C) 34eVv (D) 6.8eV

47,  Seriwon BORITS o BT ZPSCR) il s
URT Ieb Boved 82 SN, et (A) ©rAIQI a1
RO W3, T A, B B C ond WRRBIRRIZE.

OoAT ﬁ)&_. B, 3PNT Mdﬁ';ﬁa‘ (B) ssmonde mﬂiwwgm
ZRe0XRNG. a Seane xo&% Sedm “F‘ wmﬁdoimbgd.
(C) RBIEDIVOS R,
g i R ) V1. D) uF' s JosSFrSieomd
A > > A
€ s RRNBIRRIS.
(D) R8I B e,
»
RORONGS. RERBCIRRIE.
(B) A' 39 nogmmNd Y C' I
- BRFFONG. 50. 2,000 SeR@cdR T RRUTRNT STF
(C) A' 3Q SRFNS B B' 3, votom, 15 IRFONS. 30 IRFT
MOFoNT. Easene) ¢VecIOR Gormed
(D) C 39 RFYWNE &) B' 39,
e a&mn 3. (A) 0.25 (B) 0.5
(C) 0.75 (D) 0.85
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Two protons are kept at a separation of

45. The period of revolution of an electron 48.
revolving in n? orbit of H-atom is 10 nm. Let F, and F, be the nuclear
proportional to
(A) n? force and the electromagnetic force
1 between them
®)
A) F_=F
(C) rl3 ( ) e n
(D) Independent of n (B) F,>>F,
46. Angular momentum of an electron in (C) F.<sF,
e "
hydrogen atom is B (h is the Planck’s (D) F,andF _differ only slightly
constant). The K.E. of the electron is
(A) 435eV (B) 1.51eV
(C) 34eV (D) 6.8eV 49. During a B~ decay
d ] (A) an atomic electron is ejected.
47. A beam of fast moving alpha particles
were directed towards a thin film of (B) an electron which is already
gold. The parts A, B and C of the e -
transmitted and reflected beams present Pl the. voslan s
corresponding to the incident parts ejected.
A, B and C of the beam are shown in i
the adjoing diagram. The number of (C) A neutron in the nucleus decays
alpha particles in emitting an electron.
(D) A proton in the nucleus decays
:'_t___._.) emitting an electron.
C ] o
50. A radio-active element has half-life of
c 15 years. What is the fraction that will
(A) B \ylll be minimum and in C decay in 30 years ?
maximum .
(B) A' will be maximum and in C' (A) 0.25
minimum
(C) A' will be minimum and in B' B) 05
(D) C' will be minimum and in B'
maximum (D) 0.85
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51.

52.

53.

w00 220 V AC. i) A =% B
WOTONE ST AT T woBUTY

detameRnd. oood C 3 whos
Fpedeer' VI IS0 2

2
c-[-v=?

T

(B) 110V
(D) 2202V

Ae

220V
AC

Be -

(A) 220V

(C) o

Bt 2ReOATHT CRE THEBVTY,
P Q3 dd:
1

0 Q
(A) P=1,Q=0 (B) P=0,Q=1
©€) P=0,Q=0 (D) P=1,Q=1

STRTIEQRE o8 dog, Y
(A) IR T3 Fromend.

(B) goemdorr wopslon wEm 25

TS W LI Toros TN
(a%9).

T0g T RF 7fTd ToxO.
820N FAAT 860

©)
(D)

54.

RO ITRT0IT e JodnRY
2 d TRODIT WemrARNORNT. essynied
TR BRCWDLTIT DIVY 4T T8
TDTT DT TIoBSH,  BeodH.

xx' Boeds ToIFR,T WEHTHODL)

O CIRT T, FF RURILS ?
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51. A 220 V A.C. supply is connected 54. Two long straight parallel wires are a
between points A and B as shown in
figure what will be the potential
difference V across the capacitor ? - equal currents flowing out of the plane

Ae u _I_ of the paper. The variation of magnetic

distance 2 d apart. They carry steady

220V C

V=29
AC T

B:
(A) 220V
(B) 110V
(C) 0

(D) 220\2V

field B along the line xx' is given by

52. In the following circuit what are P and

£

P

0 Q
(A) P=1,Q=0
(B) P=0,Q=1
(C) P=0,Q=0
(D) P=1,Q=1

53. A positive hole in a semiconductor is
(A) an anti-particle of electron.

(B) a vacancy created when an
electron leaves a covalent bond.

(C) absence of free electrons.

(D) an artificially created particle.
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SS.

2,000 &Oodoaq)éo:b oo b
(0.3 £ 0.003)g, gud (0.5 £ 0.005) mm

B g (6 £ 0.06) cm. wWI
OTEeD oD wvotRs  noX

FeDmoth BreR oasigd ?
(A) 1 (B) 2
© 3 (D) 4

2,000 et ANHTYLT FTesot
QZL A2oddQomen, Lo ftlLondRy
DO wy @EONID 20 - sec.
Iicodndizd.  oXdect  Worn
oI Vo Asadg  FHoedow
gricdeod XHo 30  sec.
SRPenss'  dosidodgmen  of
L3 LonTR) DT SRTOBRVE FSooD

(B) 60 sec
(D) 10sec

(A) 25sec
©)

12 sec

&N,

58.

59.

2000 Fosehd g Shd), & Jodod
20T BOODTY T8 ‘m’ [T womd
Beof K adgomd DdOoDIY eyt
TBERNRE et B AN,
BeoR) FITTQ, v’ JenwQ, wOamen,
B0 SeOT LAV WO ST,
(T 308oDY oo Xe3)

(A) T (B) T_m—;’z ©)T+
WOTD WA T, ToPTY, zozgpmnd% ’
ST womd  CoiREdE, e AU
JeieERrag, BWOWIB. ‘1 Q0w

TTONTY, BRBOL T, T3 SOTERY

(A) t12 B) t(C) 2 (D) ¢

womd  FYHod e RHRECE
BeHold Tododw 2 kg wmd) oy X-Y
BIond, I3 Feeornm  ont
QBN x-vij*d AT B0 wEZ mmé

57. oowmln DesddhT  Toved  Sertad I, = 02 kg m? % y-35 Y ©u0
12 ms™ 3. wir S&Yodn Ul-)ﬁraod =ED m% ly = 0.3 kg m? spAD.
BT B HABQRY, 12 ms™! wITY, 0 Thous T Baeros e U
OFRD - oihe T DaNR,  Sachodbsl W IS &%, SNE.
SBohuerord3es ? Az
(A) 30° 3Fo a8t /T

o - > X
(B) 45° e vedrt s
(C) 30° =BT Beint Y
45° a%FJd 8@ (A) 50 cm (B) 5cm
(D) (C) 387cm (D) 3l.6cm
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55.

57.

A cylindrical wire has a mass
(0.3 £ 0.003)g, radius (0.5 £ 0.005)
mm and length (6 £ 0.06) cm. The
maximum percentage error in the

measurement of its density is
A) 1 B) 2
© 3 (D) 4

At a metro station, a girl walks up a
stationary escalator in 20 sec. If she
remains stationary on the escalator,
then the escalator take her up in 30 sec.
The time taken by her to walk up on

the moving escalator will be
(A) 25sec (B) 60 sec
(C) 12sec (D) 10sec

Rain is falling vertically with a speed
of 12 ms™!. A woman ridés a bicycles
with a speed of 12 ms™! in east to west

direction. What is the direction in
which she should hold her umbrella ?

(A) 30° towards East
(B) 45° towards East

(C) 30° towards West

(D) 45° towards West

58. One end of a string of length ‘/’ is
connected to a particle of mass ‘m’ and
the other to a small peg on a smooth
horizontal table. If the particle moves in
a circle with speed ‘v’, the net force on
the particle (directed towards the centre)
is : (T is the tension in the string)

A) T (B) T—#

(©) T+m‘,ﬁ (D) 0

59. A body is initially at rest. It undergoes
one-dimensional motion with constant
acceleration. The power delivered to it
at time ‘t’ is proportional to
AT (B) t
(C) 72 (D) ¢

60. A thin uniform rectangular plate of
mass 2 kg is placed in X-Y plane as
shown in figure. The moment of inertia
about x-axis is I, = 0.2 kg m? and
the moment of inertia about y-axis is
I, = 0.3 kg m?. The radius of gyration
of the plate about the axis passing

through O and perpendicular to the
plane of the plate is

y
(A) S50cm (B) S5cm
(C) 387cm (D) 31.6cm

Space For Rough Work
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2P0731K (DAY-2, FIRST SESSION)

SUBJECT CODE TIME Question Booklet
VERSION | SERIAL NUMBER
P 10.30 AM TO 11.50 AM | CODE
TOTAL MAXIMUM TIME MAXIMUM Total No. of MENTION YOURCET
DURATION | FOR ANSWERING MARKS Questions NUMBER
80 Minutes 70 Minutes 60 60
DOs:

1. This question booklet is issued to you by the room invigilator after 10.30 am.

2. Check whether the CET Number has been entered and shaded in the respective circles on the OMR answer sheet.

3. The version code and serial number of this question booklet should be entered on the OMR answer sheet and the respective
circles should also be shaded completely.

4. The Version Code and Serial Number of this question booklet should be entered on the Nominal Roll without any mistakes.

5. Compulsorily sign at the bottom portion of the OMR answer sheet in the space provided.

DONTs:

1. THE TIMING AND MARKS PRINTED ON THE OMR ANSWER SHEET SHOULD NOT BE DAMAGED /
MUTILATED /SPOILED. '

2. The 3" Bell rings at 10.40 am, till then;

* Do not remove the seal present on the right hand side of this question booklet.
+ Do not look inside this question booklet or start answering on the OMR answér sheet.
IMPORITANT INSTRUCTIONS TO CANDIDALES

1. Incase of usage of signs and symbols in the qhestiens, the regular textbook connotation should be considered unless stated
otherwise.

2. This question booklet contains 60 questions and each question will have one statement and four different options /
responses & out of which you have to choose one correct answer.

3. After the 3 Bell rings at 10.40 am, remove the paper seal of this question booklet and check that this booklet does not
have any unprinted or tom or missing pages or items etc., if so, get it replaced by a complete test booklet. Read each item
and start answering on the OMR answer sheet.

4. Completely darken / shade the relevant circle with a blue or black ink ballpeint pen against the question number on
the OMR answer sheet.
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5. Please note that even a minute unintended ink dot on the OMR answer sheet will also be recognized and recorded by the
scanner. Therefore, avoid multiple markings of any kind on the OMR answer sheet.

6. Use the space provided on each’page of the question booklet for Rough Work. Do not use the OMR answer sheet for the
same.

7. Last Bell will ring at 11.50 am, stop writing on the OMR answer sheet and affix your left hand thumb impression on
the OMR answer sheet as per the instructions.

8. Hand over the OMR answer sheet to the room invigilator as it is.

9. After separating the top sheet (Office copy), the invigilator will return the bottom sheet replica (Cmdidmc‘s copy) to you.

NOTE : In case of any discrepancy between English and Kannada Versions, the English version will be taken as final.
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